Combining index laws
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Combining index laws

1. Simplify each expression.

t4 X t5 q15

a)—f,—t b)—7—5qxq
)98><g4 d)a7><a2
X3 ad x a°

2. True or false? Correct any false
statements

a) (82)3 X a4 = a24 C) y-6 X (y3)2 — yO

b) (2t5)3 x 3t = 6t6  d) (3F5)2 + 3f5 = 3f5

3. For each statement find the value
of m and/or p.

a) izz a4
aMx a

b) (2a™)3 x paZ=24al’

4. Work out the input of the function
machine.

input I: X 4a°

~2a3 H x6 36a*
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Combining index laws

1. Simplify each expression.

t4 X t5 q15

A . Blgne o
g8 x g* a’ xaz _.,

2
¢) Srcos O d) Srros a

2. True or false? Correct any false
statements

a) (82)3 X a4 = a24 C) y-6 X (y3)2 — yO

False. a'© True
b) (2t5)3 x 3t = 6t16  d) (3F5)2 + 3f5 = 35
False. 24t'° True

3. For each statement find the value
of m and/or p.

9
a
=34 m=23
a) amx az_ °

b) (2am)3 X pa2: 24a17 m = 5 p = 3

4. Work out the input of the function
machine.

input I: X 4a°

332

~2a3 H x6 36a*
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